Functions Worksheet 5 - Answers
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2) in the above grid.

. Graph y = cos (
. Graph y = —2cos(z) in the above grid.

. What is the amplitude of the function
y = sin(x)?
The amplitude is 1.

. What is the amplitude of the function
y = cos(x)?
The amplitude is 27.

. What is the amplitude and period of
the function y = 3sin(mx + 1)7
The amplitude is 3 and the period is 2.

. What is the amplitude and period of
the function y = 14 cos (%)‘7

The amplitude is 272 and the period is
= .

. How is the graph of y = cos(z) different
from the graph of y = cos (%x)(?

10.

The graph of cos (%x) is stretched out
horizontally to be twice as long as
cos(x).

How is the graph of y = sin(2x) + 3 dif-
ferent from the graph of y = sin (2x)7
The graph of sin(2z) + 3 is the same as
sin(2z), only shifted up 3 units.

If the motion for a given spring
is described by the equation y =
10.0 cos(2.0t), find the spring’s fre-
quency and period.

The period is 7w seconds, while the fre-
quency is %

For the spring in question 9, if the mass
at the end of the spring is 50.0 kg, find
the spring constant. (For an equation
in the form y = Y4, cos(wt), the spring
constant k = mw?.)

k = 100 N/m.
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